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GROUP I MAIN – 2023 
 

NUMBER SYSTEM – WORKSHEET 
 
Arithmetic Progression 
 

(i) Arithmetic Progression is a, a + d, a + 2d, a + 3d … nth term is given by -

( )1nt a n d= + −  

(ii) Sum to first n terms of an A.P. is ( )2 1
2

n

n
S a n d= + −    

(iii) If the last term l (nth term is given, then  
2

n

n
S a l= + ) 

 
Geometric Progression 
 

(i) Geometric Progression is a, ar, ar2, … arn-1 . nth term is given by 1n

nt ar −=  

(ii) Sum to first n terms of an G.P. is  
( )1

1
1

n

n

a r
S if r

r

−

= 
−

 

 
(iii) Suppose r =1 then Sn= na 

 

(iv) Sum to infinite terms of a G.P. a + ar + ar2, … is 1 1
1

a
S where r

r
= −  

−
 

 
Special Series  

(i) The sum of first n natural numbers 1 + 2 + 3 ….+ n = 
( )1

2

n n+
 

(ii) The sum of squares of first n natural numbers 

12 + 22 + 32 ….+ n2 =
( )( )1 2 1

6

n n n+ +
 

The sum of cubes of first n natural numbers13 + 23 + 33 ….+ n3 =
( )

2

1

2

n n+ 
 
 

 

(iii) The sum of first n odd natural numbers 1 + 3 + 5 + …+ (2n-1) = n2 
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Part – I 
 

1. The sum of three consecutive natural numbers is 3666, then find the numbers. 
%d;W mLj;jLj;j ,ay; vz;fspd; $Ljy; 3666 vdpy; mt;ntz;fisf; 
fhz;f: 
 

2. What is the 21st term of the sequence 100, 95, 90, 85….? 
100, 95, 90, 85…. vd;w njhlu;tupirapd; 21tJ cWg;G vd;d? 
 

3. Find the sum of the first 40 terms of the series 12 – 22 + 32 – 42 + …… 
12 – 22 + 32 – 42 + …… vd;w njhlupy; Kjy; 40 cWg;Gfspd; $l;lw;gyidf; 
fhz;f. 
 

4. How many terms in AP 7, 13, 19, ……, 205. 
nkhj;j cWg;Gfspd; vz;zpf;if 7, 13, 19, ……, 205. 
 

5. In an arithmetic series, the sum of first 14 terms is -203 and the sum of the 
next 11 terms is -572. Find the arithmetic series. 
xU $l;Lj; njhlupy; Kjy; 14 cWg;Gfspd; $Ljy; -203 kw;Wk; mLj;j 11 
cWg;Gfspd; $Ljy; -572 vdpy; mj;njhliuf; fhz;f. 

 

6. In a Geometric progression 
2 3

3 1
;

5 5
t t= = . Then the common ratio is 

xU ngUf;Fj; njhlu; tupirapy; 
2

3

5
t =  kw;Wk; 

3

1

5
t =  vdpy; nghJ tpfpjk; 

fhz;f. 
 

7. The 7th term of the sequence 0.12, 0.012, 0.0012….. is 
0.12, 0.012, 0.0012….. vd;w njhlu;tupirapy; 7tJ cWg;G? 
 

8. Which term of the geometric sequence 1, 2, 4, 8, …. is 1024? 
1, 2, 4, 8, …. y; 1024 vd;gJ vj;jidahtJ cWg;G? 

 

9. If the geometric sequence 162, 54, 18,… and 2 2 2
, ,

81 27 9
… have their nth term 

equal, find the value of n. 

162, 54, 18,… kw;Wk; 2 2 2
, ,

81 27 9
…Mfpa ngUf;Fj; njhlu;tupirfspd; n- MtJ 

cWg;G rknkdpy; n-d; kjpg;G fhz;f. 
 

10. Find the value of K if 13 + 23 + ….. + K3 = 44100. 
K d; kjpg;G fhz;f:- 13 + 23 + ….. + K3 = 44100. 
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11. The sum of the series 31 + 33 + … + 53 is 
31 + 33 + …+ 53 vd;w njhlupd; $Ljy; vd;d? 

 
12. A gardener plans to construct a trapezoidal shaped structure in his garden. 

The longer side of trapezoid needs to start with a row of 97 bricks. Each row 
must be decreased by 2 bricks on each end and the construction should stop 
at 25th row. How many bricks does he need to buy? 
xU Njhl;lf;fhuu; ruptf tbtpy; Rtu; xd;wpid mikf;f jpl;lkpLfpwhh;. 
Ruptfj;jpd; ePz;l Kjy; tupirf;F 97 nrq;fw;fs; Njitg;gLfpwJ. gpd;G 
xt;nthU tupirapy; ,UGwKk; ,uz;buz;L nrq;fw;fs; Fiwthf itf;f 
Ntz;Lk;. mt;tbtikg;gpy; 25 tupirfspUg;gpd;> mtu; thq;f Ntz;ba 
nrq;fw;fspd; vz;zpf;if vj;jid? 

 
13. Find the sum of 11 terms of the sequence 3, 8, 13…. 

3, 8, 13…. vd;w $l;Lj;njhlupd; Kjy; 11 cWg;Gfspd; $Ljy; vd;d? 
 

14. Find n so that the nth terms of the following two A.P’s are the same. 1, 7, 13, 
19,…. and 100, 95, 90…. 
1, 7, 13, 19,…. kw;Wk; 100, 95, 90…. Mfpa A.P. apy; n – MtJ cWg;G rkk; 
vdpy;> n-d; kjpg;G fhz;f. 
 

15. A gardener wanted to reward a girl for her good deeds by giving some 
apples. He gave 2 apples on the first day, 4 on the second day, 8 on the third 
day, 16 apples on the fourth day and so on for ten days. How many apples 
did she get from the gardener at the end of the tenth day. 
ew;gzp nra;j xU rpWkpf;F guprspf;f tpUk;gp Njhl;lf;fhuh; rpy Mg;gps;fis 
guprhf mspf;f Kd;te;jhu;. Kjy; ehs; 2 Mg;gps;fs;> ,uz;lhk; ehs; 4 
Mg;gps;fs;> %d;whk; ehs; 8 Mg;gps;fs;> ehd;fhk; ehs; 16 Mg;gps;fs;… 
vDkhW 10 ehl;fs; mspj;jhu;. 10 ehs; Kbtpy; mr;rpWkp ngw;Wf; nfhz;l 
nkhj;j Mg;gps;fs; vt;tsT? 

 
16. If the product of four consecutive terms in GP is 625. Find the first term.  

xU ngUf;Fj; njhlh; thpirapd; mLj;jLj;j ehd;F cWg;Gfspy; ngUf;Fj; 
njhif 625 vdpy; Kjy; cWg;igf; fhz;f.  

 
17. Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 cm, …. 24 cm. 

How much area can be decorated with these colour papers? 
Nufhtplk; 10 nr.kP> 11 nr.kP> 12 nr.kP>….> 24 nr.kP vd;w gf;f msTs;s 15 
rJu tbt tz;zf; fhfpjq;fs; cs;sd. ,e;j tz;zf; fhfpjq;fisf; 
nfhz;L vt;tsT gug;ig milj;J myq;fhpf;f KbAk;?  

 
18. 12 + 22 + 32 + …. 252  

 
19. 122 + 132 + 142 + …. + 352  
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20. Find the number of 3 digit natural numbers which are divisible by 6  

6 My; tFglf;$ba 3 ,yf;f ,ay; vz;fspd; vz;zpf;if fhz;f.  
 

21. The first term of an A.P. is 6 and the common difference is 5. Find the A.P. 
series 
xU $l;Lj; njhlh;thpirapy; Kjy; cWg;G 6 kw;Wk; nghJ tpj;jpahrk; 5 
vdpy; mj;njhlh; thpiria fhz;f.  
 

22. The 10th and 18th terms of an A.P are 41 and 73 resp Find the 27th term.  
xU $l;Lj;njhlh;thpirapy; 10 kw;Wk; 18 MtJ cWg;Gfs; KiwNa 41 
kw;Wk; 73 vdpy; 27 MtJ cWg;igf; fhz;f.  
 

23. In a geometric series, if the fourth term, is 2

3
and seventh term is 16

81
, then 

what is the first term of the series?   

xU ngUf;Fj; njhlh; thpirapd; ehd;fhtJ cWg;G 2

3
 kw;Wk; mjd; VohtJ 

cWg;G 16

81
 vdpy; me;j thpirapd; Kjy; cWg;G vd;d?  

 
24. In the geometric series 2 + 4 + 8 + ….., starting from  the first term how many 

consecutive terms are needed to yield the sum 1022?  
2 + 4 + 8 + …., vd;w ngUf;Fj; njhlhpy;> Kjy; cWg;gpypUe;J njhlh;r;rpahf 
vj;jid cWg;Gfisf; $l;bdhy;> $Ljy; 1022 fpilf;Fk;?  
 

25. In a geometric sequence, the first term is 
3

 and the sixth term is 
729

 , find the 

G.P  

xU ngUf;Fj; njhlh;thpirapy; Kjy; kw;Wk; MwhtJ cWg;Gfs; KiwNa 
3

 ,

729

 . vdpy;> mg;ngUf;Fj; njhlh; thpiriaf; fhz;f.  

 
26. The sides of 14 squares are 11cm, 12 cm, 13 cm, ….. 24 cm then find the total 

area of 14 squares.  
11 nr.kP> 12 nr.kP> 13 nr.kP> …..> 24 nr.kP Mfpatw;iw KiwNa gf;f 
msTfisf; nfhz;l 14 rJuq;fspd; nkhj;jg; gug;ig fhz;f.  
 

27. If 12 + 22 + 32 + …. + 102 = 385 then 22 + 42 + 62 + ….. + 202 is  
If 12 + 22 + 32 + …. + 102 = 385 vdpy; 22 + 42 + 62 + ….. + 202 d; kjpg;G 

 
28. A rubber ball is dropped from a height of 25 m, which strikes the ground and 

rebounds every times to the half of the height from where is falls sown what 
is the total distance travelled by the ball to come to the rest position?  
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25 kP cauj;jpypUe;J Nghlg;gl;l xU ,ug;gh; ge;jhdJ xt;nthU KiwAk; 
jiuapy; Nkhjpa gpwF> tpOe;j cauj;jpy; ghjp mstpw;F vOk;GfpwJ vdpy; 
xa;T epiyf;F tUk;NghJ me;j ge;J nrd;w nkhj;j J}uk; vt;tsT?  

 

Part – II 
 

1. The product of two rational number is 2

3

− . If one number is 3

7
, find the other. 

,U tpfpjKW vz;fspd; ngUf;fw;gyd; 2

3

−  MFk;. Xu; vz; 3

7
 vdpy; kw;Nwhu; 

vz;idf; fhz;f. 
  

2. Write the following rational numbers in descending and ascending order. 
3 7 15 14 8

, , , ,
5 10 20 30 15

− − −

− −
. 

gpd;tUk; tpfpjKW vz;fis ,wq;F tupir kw;Wk; VW tupirapy; vOJf:  
3 7 15 14 8

, , , ,
5 10 20 30 15

− − −

− −
 

 

3. Evaluate: 
4 3 5 30 12 27

3 2 3 12 9 16

 −  − − −     
− + + +       
      

 

kjpg;G fhz;f: 
4 3 5 30 12 27

3 2 3 12 9 16

 −  − − −     
− + + +       
      

 

 
4. What is the difference between the sum of first ‘n’ odd natural numbers and 

that of first ‘n’ natural numbers? 
Kjy; ‘n’ xw;iw ,ay; vz;fspd; $LjYf;F Kjy; ‘n’ ,ay; vz;fspd; 
$LjYf;Fk; cs;s tpj;jpahrk; vd;d? 

 

5. The value of 3 0.015625  is 
3 0.015625 d; kjpg;G fhz;f. 

 
6. The cost of three mathematics books and four science book is Rs. 216. The 

cost of three mathematics book is the same is that of four science books. Find 
the cost of each book. 
%d;W fzpjg; Gj;jfq;fs; kw;Wk; ehd;F mwptpay; Gj;jfq;fspd; nkhj;j 
tpiy &. 216. %d;W fzpjg; Gj;jfq;fspd; tpiyAk; ehd;F mwptpay; 
Gj;jfq;fspd; tpiyAk; rkk; vdpy;> xt;nthU Gj;jfj;jpd; tpiyiaf; fhz;f. 
 

7. A number consist of two digits whose sum is 11. The number formed by 
reversing the digits is 9 less than the original number. Find the number. 
xU ,uz;L ,yf;f vz;zpd; ,yf;fq;fspd; $Ljy; 11. ,yf;fq;fis 
,lkhw;wp mikf;Fk; NghJ fpilf;Fk; vz; Ke;ija vz;iz tpl 9 FiwT 
vdpy;> me;j vz;izf; fz;Lgpb. 
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8. If 
4 5 4 5

5
4 5 4 5

a b
+ −

− = +
− +

, find the values of a and b. 

4 5 4 5
5

4 5 4 5
a b

+ −
− = +

− +
 vdpy; a kw;Wk; b ,tw;wpd; kjpg;Gfisf; fhz;f. 

 
9. If A = 265 and B = 264 + 263 + …. +20 then find the relation between A and B.  

A = 265 kw;Wk; B = 264 + 263 +…. +20 vdpy; A – f;F B- f;Fk; ,ilNaAs;s 
njhlh;G fhz;f.   

 
10. There are 12 pieces of five, ten and twenty rupee Currencies whose total 

value is Rs. 105. But when first 2 sorts are interchanged in their numbers its 
value will be increased by Rs. 20. Find the number of currencies in each sort.    
Ie;J> gj;J kw;Wk; ,UgJ &gha; Nehl;Lfspd; nkhj;j kjpg;G &.105 kw;Wk; 
nkhj;j Nehl;Lfspd; vz;zpf;if 12 Kjy; ,uz;L tif Nehl;Lfspd; 
vz;zpf;ifia ,lkhw;wk; nra;jhy; Ke;ija kjpg;ig tpl &. 20 
mjpfhpf;fpwJ. vdpy;> vj;jid Ie;J> gj;J kw;Wk; ,UgJ &gha; Nehl;Lfs; 
cs;sd.  

 
11. The difference between two numbers is 5 and the difference between their 

squares is 75, find the larger number.  
,U vz;fSf;F ,ilNa cs;s NtWghL 5> mtw;wpd; th;f;fq;fSf;F 
,ilNa cs;s NtWghL 75 vdpy; ,t;tpU vz;fspd; nghpa kjpg;G ahJ?  
 

12. The sum of three umbers is 264 if the first number be twice the second and 
third number be one third of the first, then the second number is 
%d;W vz;fspd; $Ljy; 264 Kjy; vz; ,uz;lhtJ vz; Nghy ,U klq;F> 
%d;whtJ vz; Kjy; vz;zpy; %d;wpy; xU gq;F vdpy; ,uz;lhtJ vz; 
ahJ?  

 


